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ΑΣΚΗΣH 

 

Να βρείτε τους συντακτικούς τύπους των ενώσεων Α, Β, Γ, Δ, Ε, Ζ & Θ, με 

βάση το ακόλουθο διάγραμμα: 

 

 

                   + ΗCΝ   CH3CH(CH3)CN +Η2Ο, -ΝΗ3 CH3CH(CH3)COOH     

    Γ         Δ     

       

CH3CH=CH2  + H2O / Η+  CH3CH(OH)CH3       Η+ 

  A    Β          CH3CH-O-COCHCH3 
                              │                      │  

        πολυμερισμός     + K2Cr2O7 / H+         CH3      CH3 
 

  Ε              Ζ           

(-CH2-CH-)v CH3COCH3 
 │               

 CH3      + KMnO4 / H+ 

    

δε γίνεται  

    αποχρωματισμός 
 
 


